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PHYSICAL EDUCATION
Paper - 11

questions are compulsory.

The classification of body types as
Endomorphs, = Mesomorphs  and
Ectomorphs is given by

(A) Kretchmer (B) Sheldon
(C) Plato (D) Aristotle

Human Heart is

(A) Anenzyme factory

(B) A great pumping organ
(C) Source of Inspiration
(D) An Energy House

There are primarily four groups of
muscles around hip joint. Among them
medial group of muscles acts for

(A) Flexion (B) Extension
(C) Adduction (D) Abduction

Competition is simply

(A) alearnt social process

(B) a productive strategy for
character development

(C) destructive for growth of individual |

(D) essential for human development

Post-Graduation course in pﬁygical
Education first started in India in the

year o
(A) 1960 (B) 1963
(C) 1965 (D) 1970

Getting the right facts to the right
people at the right time in the right
way is called

(A) Motivation for Sports

(B) Leadership in Sports

(C) Game Management

(D) Public relation in Sports

Which of the following is known as
the building blocks of the body ?

(A) Proteins

(B) Carbohydrates

(C) Vitamins

(D) Minerals

Paper-1I

10.

11.

12.

13.

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

Which of the following is considered
as genetic endowment ?

(A) Endurance
(B) Flexibility
(C) Speed

(D) Strength

Which of the following correlation
co-efficients represents the weakest
relationship between two variables ?

(A) -0.59 (B) +0.10
< -1.0 (D) +0.76

Which one of the following is not a
criteria of a good test ?

(A) Objectivity
(B) Subjectivity
(C) Reliability
(D) Validity

Supervision as an
management aims at

(A) Students counselling

(B) Overseeing students activities
(C) Progress sustaining

(D) Feedback providing

aspect  of

Which of the following is not related
to the School Health Programme ?

(A) Career Counselling
(B) Keeping health records
(C) Hygiene

(D) Cure diseases

Observation in which the participants
are unaware that the researcher is
observing their behaviour, is

(A) Participant observation
(B) Non-participant observation
(C) Undisguised observation
(D) Disguised observation
J-47-14

www.examrace.com



R T

Ty - 11
o =9 T A = (50) TE- et I € | T U h Ay (2) SR T | aet 0 e § |

1. USHhH, AEHET qO TR % w9

T YR ThRI ol forToi Tt A & 2
(A) IR (B) Ieed
(C) wia (D) 3RE

2. HAMOEIE:

(A) TSIRH I H HREFT
(B) UT S STAT Ueh g7 3T
(C) TROT T &I
(D) UF I-M-HUER

3. o7 Y % 3-ATE AEURE % 9N 9
TS T | TH O Hegedl Aguel g9E

freferiad 5 9 fordeh fow s sear & 2

(A) 3T (B) fa&nron

(C) 3yac (D) eTUerc
4,  YqEfTdT FHae

(A) T IrEr T ArifsTes Uishar € |

(B) =i fehd ot wedlcargeh WM & IS

(O) mﬁﬁ%ﬁﬁﬂa%iﬁqﬁ%ﬁaﬁﬂﬁ?
(D) HFE faehg & fog e € |

5. YRd U FI9 T IRING foem @

AR Y HE a9 | I g1 2
(A) 1960 (B) 1963
(C) 1965 (D) 1970

6. TR IS el W W Gel AT i Wel

Tk T I AT — el €
(A) Tl & foIw Rom
(B) well # g
(C) T vEE
(D) WAl § SHETH
7. fTrafafaa & @ &9 9@ 9% WL &

e FAT & 9
(B) wFaRERSH

(A) WEH
(C) Toert= (D) foaeew

J-47-14

8.

10.

11.

12.

13.

frefafad 5 9 S T SFAiS et
T T E 2
(A) TE=ierar
(C) T

(B) oo
(D) det

fefetEd § 9 % 91 Tedey Ul §f
uRedt % e GEd AN GaY @l
et e & 2
(A) -0.59
< -10

(B) +0.10
(D) +0.76

frAfafEd ¥ ¥ 9 91 Th SO0 I8
T ATISUS TEl & ?

(A)  fawatTear

(B) AT

(C) Tavagrear

(D) ATmT=I/SYar

(A) B HIEYH
(B) ®TAT I iatateEt b fAteror
(C) W =1 &

(D) wfqqfee 3=

Afafad 7 9 & 9@ oo @
FHIHH W Heifd T8l & 2

(A) STifoeT Tt WES

(B) T {HTE W&l

(C) =t

(D) SEIRET @ 3k HET

3@ et A Wewrt @ 9| §
3R i € o vkl 3o SHeR
TeI0T T TET €, 1 FT Fedl & 2

(A) TR Hegor

(B) TR-Tewm Heyor

(C) 3TI=— eTur

(D) W= UeTuT

Paper-1I

www.examrace.com



14.

15.

16.

17.

18.

A gymnast performs giant swing
continuously for a number of times on
a horizontal bar by manipulating radius
of rotating of the body. For this he

(A) only decreases radius of rotation
(B) only increases radius of rotation

(C) alternately decreases and
increases radius of rotation once

(D) alternately decreases and
increases radius of rotation
continuously.

From the following, identify the one
which is not innovating in Sports
management.

(A) Evolving
(C) Searching

(B) Influencing
(D) Directing

The study of how learning occurs is
mainly a part of

L Neuropsychological

II.  Physiology of Exercise

III.  Educational Psychology

IV. Sociology of Sports

Find the correct combination :

(A) LI (B) 1L III

(C) LIV

Whirlpool therapy used in sports
medicine includes :

L Massage

II.  Ice packs

III. Water immersion

IV. Infrared

Select the correct answer :

(A) TandII (B) TandIII
(C) IIand I (D) IIand IV

Achievement goal theory has three
factors; these are :

L Achievement goals

II.  Perceived ability

III. Task orientation

IV. Achievement behaviour

Find the correct combination :

(A) IL L III B) I1ILIV,I
©) IV, IIL I D) LILIV

Paper-1I

(D) LI 'K

19.

20.

21.

22.

Physical education teachers need a

time table because :

L It helps them to plan effective
teaching programme.

II. It helps them to plan their
leisure time.

III. It ensures proper utilisation of
time and energy.

IV. It helps them plan their
household works.

Find out the correct combination

A LI (B) L III

<o I, 1v (D) 1L I

The objective means of judgement of
training load consists of

L Oxygen consumption

II.  Cotton lips

III.  Sleeplessness

IV. Lactic Acid concentration

Find the correct combination :

(A) TandII (B) Hand III
(C) IHIand1V (D) TIandIV

Following tests are used to measure
strength of different forms :

L Sit-ups

II.  Squat jump

III. Medicine ball throw

IV. Pull-ups

Among them strength endurance is
measured by

(A) TandII (B) IIand III
(C) IMandIV (D) IVandlI

Use the correct code given below :
Arrange the organs of Respiratory
system in descending order.

1. Nose

II. Larynx

III. Trachea

IV. Lungs

Codes :

A LILIv,iar B) IV, IOLILI

O I1LuaLIiv,1 (M) LILIIOI,IV
J-47-14
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23.

24.

25.

Indian Olympic Association (IOA) is

under the process of suspension by the

International ~ Olympic ~ Committee

(IOC) due to the reasons :

L Criminally charged persons can
not hold official positions in IOA.

II. 70 years age limit for the office-
bearers

III. Bypassing two term norms for
office-bearers

IV. 12 years as office-bearer and not
more than 70 years of age.

Find the correct combination.

(A) T&II B) M&lV

©) I1&IV (D) &I

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R) :

Assertion (A) : No two individuals
are alike.

Reason (R) : Individual difference
should be given due
consideration before prescribing
physical activities.

Which one of the following statements

is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is:\L

not the correct explanation of (A).
(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the other

as Reason (R) :

Assertion (A) : In fibrous joint there
is no movement at all.

Reason (R) : Hinge joint is a
typical example of fibrous joint.

In the context of two statements, which

one of the following statement is correct ?

Codes :

(A) Both (A) and (R) are right and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are right but
(R) is not the correct explanation
of (A).

(C) (A)isright but (R) is wrong.

(D) (A)is wrong but (R) is right.

Paper-1I

26.

27.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : Humanbeing are
unique, they  possess a
combination of physical, mental
and behavioural characteristics
that identify them as human and
endow them with individual
personality.

Reason (R) : People are both
similar and different. We have
different biological and
experimental background, but
we still share certain physical
and mental qualities that
distinguish us as human being
from animals.

In the context of the above two

statements, which one of the

following statement is correct ?

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : The nature and
objective of physical education
in the educational institutions
primarily depend upon the
philosophy of the organisation,
and its leadership.

Reason (R) : Curriculum 1S
interpreted  as ‘all ~ the
experiences that pupils gain
under the guidance of the
school.’

In the context of two statements

which one of the following statement

is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

J-47-14
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29.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).

Assertion (A) : Stressors
persistently bombard us. our
response is  stress-increased
agitation in the cycle of
interdependence between cell-
organ-fluid.

Reason (R) : The pool of general
adaptation energy required for
that response is finite, the
stressor effect is cumulative.
The total stressor ‘package’
must then, be identified and
managed.

In the context of the above two
statements, which of the following is
correct ?

Codes :

(A) Both (A) and (R) are right, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are right, but
(R) is mnot the correct
explanation of (A).

(C) (A)is wrong, but (R) is right.

(D) (A)isright, but (R) is wrong.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : Osteoporosis
disease occurs for Basketball
players due to over use of
joints.

Reason (R) : Synovial fluid is
reduced in the joints due to
overuse.

In the context of two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(C) (A)istrue but (R) is false.

(D) (R)is true but (A) is false.

Paper-1I

30.

31.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R).

Assertion (A) : ‘t’-test can be used
to test the significance of
difference between two groups
mean values.

Reason(R) : ‘t° test is a
parametric inferential statistical
test of null hypothesis for a

single sample where the
population variance is not
known.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and (R)
s the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
others as Reason (R).

Assertion (A) : Evaluation =
measurement compared with
objectives.

Reason (R) : Measurement and
evaluation play a  very
important role in physical
education.

In the context of the above statement,

which one of the following is true.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.
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A) (A) FWJT (R) HE ?lﬁ £ 3 (R),
(A) T T&l T € |

(B) (A) T (R) I Wl €, T (R),
(A) T TET TR T & |

(C) (A) Tl g, W] (R) T € |
@MWﬁW®@%

T TR ™€ | TH H
aﬁqgm(A)wga%a%W(R)w
T |

AMTEHUT (A) : JoAHT = YA B
Tt | |1
FROT(R) 9O qor

w§ww%m@m

ST {F FTAl & G | (Hm=fefad |
APT AT T ?

HE :

(A) (A) @ (R) 341 T&t & 31X (R),
(A) T T TR |

(B) (A) T (R) 31 Wl &, W (R),
(A) T Tel T Fal & |

(C) (A) Tl g, W] (R) T € |
(D) (A) oA €, W (R) T € |
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32.

33.

34.

Given below are two statements, one
labelled as Assertion (A) and the
others as Reason (R).

Assertion (A) : Administration is a
policy making function.

Reason (R) : Management is
concerned with carrying out the
broad policies laid down by
administration.

Which one of the

statements is true :

Codes :

(A) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A)

(B) (A)is true, but (R) is false.

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true.

following

Arrange sequentially following steps

of the Govt. of India for the

development of Physical Education

in India.

L National Physical Efficiency
Test

II.  Amrit Kaur Coaching Scheme

ImI. L.N.C.P.E. I ‘L

IV. Advisory Board on Education
Codes :

A) LIv,im (B) ILLIOIV
© v, iILILI (DO) ILIV,IOLI
Select the correct chronological

sequence of different phases involved

in catching a ball from the following

options :

(A) Positioning in line of incoming
ball, judging the flight, cupping
and receiving the ball.

(B) Judging the flight, Positioning
in line of incoming ball,
receiving the ball and cupping.

(C) Cupping, receiving the ball,
judging  the  flight and
positioning in line of the ball.

(D) Judging the flight, positioning
in line of the incoming ball,
cupping and receiving the ball.

Paper-1I
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35.

36.

37.

38.

In presentation method of technique
training the following stages are
involved :

L Practice

II. Explanation

III. Demonstration

IV. Removal of errors

Arrange in proper sequential order
A ILaLIv,1  B) LIOLILIV
©) 1v,LuLaom () OLILLIV

Arrange the following Test batteries
in chronological order of their
origination with the code given
below :

L Kraus-Weber Test

II. AAHPER Youth Fitness Test
III. Barrow General Motor Ability

Test

IV. Health Related Physical Fitness
Test

Codes :

A ILIV,I&ID @B) IV,L[ &I

O LILO&IV O) ILOLIV&I

Select correct sequence of phases of

movements in which they appear in 100

m sprint from the following options :

(A) Slow acceleration, rapid
acceleration, zero acceleration,
negative acceleration

(B) Zero acceleration, slow
acceleration, rapid acceleration,
negative acceleration

(C) Negative acceleration, zero
acceleration, slow acceleration,
rapid acceleration

(D) Rapid  acceleration, slow
acceleration, zero acceleration
negative acceleration

Match List — I with List — II and
select the correct answer from the
codes given below :

List-1 List — 11

I. Epistemology 1. Deals with
nature of
beauty in arts

II. Logic 2. Deals with
moral

III. Ethics 3. Deals with
reasoning

IV. Aesthetics 4. Deals with

ultimate truth

Codes :

1 II 111 Y
(A 4 3 2 1
B) 1 2 3 4
) 4 3 1 2
D) 3 4 2 1

J-47-14
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32.

33.

34.

I T @ ™ € 1 uw &

MIHIT (A) TAT TH T HROT (R) FeTl

™Y |

AfHUT (A) : RS AT S
FIE |

HROT(R) WM % FN [
fomia  aemret & HEled
AT T H 6 ¢ |

fr=fafed 5 9 9 3w 9T

S

(A) (A) T (R) 31 W& €, T (R),

(A) T HET TEIH0T T & |

(B) (A) W& & W= (R) T ¢ |

(C) (A) T &, W] (R) TEl ¢ |

(D) (A) 3R (R) I T E |

IRT T RN 9187 & AT 9Ra TR
R 32T T AT =ROT bl i
FHMHR FaRd T :

L 9 TSt TiRraudt 3
[I. 379 SR BT @hiF

. TG
%Q@H@ﬁﬁaﬁaﬁm

(A) LILIV,IT (B)
(C) IV, ILILI

IL I, L, IV

ot I # Uhe (P H) § Fled

gﬂﬁmm@mﬁwwmw
0

(A) A aTel TS B AT H UISieE
AfeTal ¥ T 1 SAHR FAAT a7
IS &l T T |

(B) SSM I FHH THIAT, T ATl
TS B! oA1eT | qISI9 T, TS
T AT qAT S gdferdt § &
T MBI T |

(C) Tl sfell @ &9 & AR

ST, ST 1 T BT, IS

3T ORTAT 4T S S ol |

TS9O T |

SEF H1 AN oI, TS

T T USIYE o, gttt § 9

FH AHR SAET q0 T o

HET |

D)

J-47-14
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35.

36.

/.

38.

P UIRIOT B UAROT TFT H
frefafa «X e §

| S

II. TR

L. feee

IV. 9 gar

(A) ILOLIV,I (B) LIILILIV
(©) IV,LOLI (D) NOLILLIV

Frfeiad e d2iT &l 39 IE o6

ST & FHIAMHY H AT ifsTT qer

e 5T 7T He ¥ el S T

[ SREIR I

II. AAHPER 3% ftheaq &

Il R ST AIY Uleierdl 2

Iv. Wwﬁmﬁﬁm?@mé@

7=~ \

(A) IIL IV, I & II

(B) IV, I, 117 I

(C) I IO, I e IV

(D) IL I IV @I I

100 HieX & fore § fka doem @t

el w1 e oA (S wH W 3

e 3wt €) gHT

(A) T TAEEH, gd Taaed, I
TiqaE=, FOTcHs Maae=

(B) ¥ TiqadH, HE Tideed, §d
T, FOTcH Maae=

(C) HUTCHS Tqaeq, I Tdae=, 1
TeeH, g T

(D) §d Tqadd, T TqaEd, I
T, SROTcHeh Tidead

G-I B G-I & |1 Goferd it
AR T T T Fie Wl I FH T
HITTT
e -1 =t - 11
[ JAEwEEr 1. 39 g9Y Hen |
i) g H A e |
. dhers 2. S § 9 € |
[ Fifaere 3. Jom ¥ HEMa € |
V. 9egeme 4. WA ST Y §ea ¢ |
B
I IO I Iv
A 4 3 2 1
@) 1 2 3 4
© 4 3 1 2
D) 3 4 2 1
Paper-1I
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39. Match List — I with List — II and 42. Match List — I with List — II and

select the correct answer from the select the correct option using the
codes given below : codes given below :
List — I List — IT List -1 List - II
I. Neuron 1. Digestive system I.  Reaction 1. Buffer
II. Alveoli 2. Urinary system ability capacity
III. Nephrone 3. Respiratory system II. Movement 2. Anticipation
IV. Villi 4. Nervous system speed
Codes : III. Locomotors 3. Metabolic
I II m 1v ability power 1
A 1 3 4 o) IV. Speed 4. Abiii?t
(B) 4 3 ) 1 endurance rela i)
(C) 2 1 3 4 Codes : o o
D) 1 2 3 4 I I 1 1v
(A) 3 4 2 1
40. Which one of following pairs is not B 2 1 4 3
correctly matched ? < 2 3 4 1
(A) Body mass is the — Inertia D) 1 2 4 3
measure of
(B) Elevation and — Shoulder 43. Which one of the following is

correctly matched ?
A) [The variable — Independent
manipulated by  variable

depression are the girdle
movements of

(C) The muscle — Sartorius b b
covering both the EH? resea'lr% ler h )
joints of hip and e variable that — Dls.crete
knee allgWvs for  variable
(D) Movement of a - Projectm‘,\ racthEal
gymnast in air ; ,GC) %rgoun bl D dent
. . ' e variable — Dependen
holding the rings L made up of units  variable
41. Match List — I with List — IT and find th*g are ,detaghed
the correct option using the codes and distinct from
given below : one another
Li Py (D) The variable in a — Continuous
ist -1 ! t—11 : ,
. . study that is  variable
I.  Prevention 1. \Balance Diet
. di 3 measured by the
. Tom digpages researcher
<% 1L/ Decrease ®the 2. Alcohol
pulse rate <, 44. Which one of the following pairs is
III. Increased Smoking correctly matched ?
blood pressure (A) Nominal scale of — Religion
iV 1 ?sychomot r 4. Amphetamine measurement
S stimulant (B) Ordinal scale of — Time
Codes : measurement
I onm 1 1v (C) Interval scale of — Class rank
(A 2 3 4 1 measurement
B) 1 2 3 4 (D) Ratio scale of — Temperature
< 3 4 1 2 measurement
(D) 4 1 2 3
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39. g1 # gA-Il & 9 GAfed B 42. G-I S A & 9 gAfT Hive
W%@?QWWS@N(%;}N: qT = ST T Hie T W S A
-1 ~1I
[ dCeeRiE 1. e A T -1 T -1
1L M 3. v AT
%W 4. PR I =oF T 2. qavE
: Comom v . "faEwEs 3. = v
BIIRGI)
A 1 3 4 2 P
B 4 3 2 1 Iv. T 4. W#
© 2 1 3 4 ERENIRG| a3 /}
1 2 3 4 e : .
40. ?ﬂﬁf@ﬁﬁﬁaﬁqu@ﬁﬁﬂﬁ I II IH' IlV -
?
(A) WRTus - eAfpEarw @a 3 4 2 1
AT & B 2 1 4 3
(B) SAMA TN —  THY BEA © 2 3 4 1
ST
e s @ 1 2 4 3
© ﬁﬂaﬁﬁg— AR 43. Tt & @ 2 @ R 2
He T .
dhE lgl vEd g - W
BT A e oA T
et e ‘\{‘ aftert
(D)Wmﬁ_wé' })m:r’mqma% _ fafmEw
il J qﬁaﬁ/jj o
RECE - ‘
41, T T T g © T e 3o
T A 52 T e | W 3T g 3
FR-1-4 ¥ ~1I TR H T
L odmad |1 e e NPT S
. g W ' (D) ©F oEEd - HAq W
- —H’" BRI 2. e IRad/A T
( T st 7 A
. 1L WEE agEl 3. gHuH Topa T &
AV, T 4. UERITEA
;%-'.m A 44. TTEtcAfEa o | BF 91 Ge gHferd § 2
T 1 m v (A) s OO YT — ey
A 2 3 4 1 (B) HES AT 9T - 99T
® 1 2 3 4 (C) o I T — A
© 3 4 1 2
® 4 1 2 3 (D) UM HO TAMT — g

www.examrace.com



45.

46.

47.

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List — 11
(Old Concept) (Modern Concept)
I. Inspection 1. Derived and
corporative
II. Focused on 2. Diverse
teacher functions
III. Visitation and 3. Emphasis on
conference material aims
IV.Imposed and 4. Study and
authoritarian analysis
Codes :
I I 1m 1Iv
(A 4 3 2 1
B) 1 2 3 4
<C 4 1 2 3
D) 1 4 3 2

Match List — I with List — II and
select the correct option using the
codes given below :

List-1 List — 11

I. 1953 1. Sports Authority of India

II. 1956 2. Rajkumari Amrit Kaur
Coaching Scheme

III. 1954 3. National plan of Physical
Education and Recreation
was published

IV. 1984 4. National Discipline Sc;mm@

Codes :

I O 1ur 1Iv

(A) 2 3 4 1

B) 1 2 3 4

< 4 3 2 1

D) 1 4 3 2

Match List — I with List — II and
select the correct option using the
codes given below :

48. Match List — I with List — II and
select the correct option from the
codes given below :

List -1 List - 11
I. Milk, Cheese, 1. Carbohydrates
Yogurt
II. Meat, Poultry, 2. Calcium and
Fish Nuts
III. Vegetable 3. Proteins
groups
IV. Bread, Cereal, Rice 4. Vitamins
Codes :
I n 1 1Iv
(A 2 4 3 1
B) 1 4 3 2
< 2 1 4 3
D) 2 3 4 1
49. Match List — I with List — IT and find
out the correct option from the code
iven below :
“List-T ) List — II
\ easuring (Measured
Instrument) Quantity)
ensiometer 1. Range of
motion around
a joint
Flexomeasure 2. Work
III. Spirgheter 3. Strength
IY. Ergometer 4. Vital capacity
Codes :
I I o Iv
(A 2 3 1 4
B) 4 2 3 1
o 1 4 2 3
D) 3 1 4 2
50. Match List — I with List — II and

detect the correct option using the
codes given below :

List-1 List — 11
I.  Rajeev Gandhi 1. 1961
Khelratna Award
II. Arjuna Award 2. 1985
III. Dhyanchand 3. 1991
Lifetime

Achievement Award
IV. Dronacharya Award 4. 2002

Codes :

I I 1 Iv
A 1 2 3 4
B) 3 1 4 2
<C 4 3 2 1
D) 2 1 3 4

List2 L List — IT
<+ L& Operant ry 1. Personality
I.  Situation-Spgcific 2. Motivation
( Theory
III. Social Ledrning 3. Learning
¢ Jheory _
V. Cognitive 4. Leadership
/" Evaluation ‘l‘heory
Codes :
I O 1ur 1Iv
A 1 2 3 4
B) 2 3 4 1
< 3 4 1 2
(D) 4 1 2 3
Paper-11
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45. G-I 1 FA-I1 & 9 gAfed Hite

qT = ST T e T G ST A
T - 1 T - 11
(T WehedqAT)  (AMEFTeh HeheuHT)
L Fieqor 1. s 3R

TEwR
I P stsa 2. fof s
O IEASE 3. wifds &9 )
3 T TR
IV. diarmraer 4. nag 3R
STThRATaT fargeteor
HE
I O I IV
A 4 3 2 1
B) 1 2 3 4
<o 4 1 2 3
D 1 4 3 2
46. g1 FH gA-II & G
wﬁjﬁﬁﬁqwaﬁr@@%}ﬁwiﬁq
-1 -1
L 1953 1. wEH 3fiUiiRer e
e
I 1956 2. STHHART AHIDR
it
M. 1954 3. +Fa ™@H 3%
SiRIRE R ERCDINGE
“ i
IV. 1984 4. gﬂ?f@fﬁw_&ﬁ? <
S : 7 B
I I I IV
A 2 3 4 1
B) 1 2 3 4
< 4 3 2 1
1 4 3 2
47. gA-1 B FA-I & W GAfAT BT
qur I T T Fie FH GerFar 4 T
wgﬁq:
L ol - 11
(I [EZIEEG) 1. =t
I e 2. SATIROT
. g | e 3. eifem
1% ti:ll-ﬂcHoh) qodishd 4. A
a1
rlnom v
A 1 2 3 4
B) 2 3 4 1
< 3 4 1 2
D 4 1 2 3
J-47-14
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48.

49.

50.

G-I Bt G-I % T GHferd FifsTe

T A ST T He ¥ W W A
e -1 =t - 10

I 39, TR, 1. FEwEEeed
e

[I. W@ died, 2. hiowdq qdr
EE Gl FRER ®et

Il aFfd 99 3. Wed
IV. 35, °FM, 4. faai=

EIEK| 1
HIE:

I O I v
A 2 4 3 1
B 1 4 3 2
© 2 1 4 3
D 2 3 4 1
G-I B G-I % Fq1T GHferd FifsTT
e A T T S W el faeheT 9
7 Sow=Sn | =t - 11
. (VT 30T HTT)
1. A, 1. fedrEu®

e i =
e
ARG 2. &
y @%?ﬂi'& 3. drehd
Ly T 4. SiEAr e
O
I O Mm IV
A 2 3 1 4
B) 4 2 3 1
© 1 4 2 3
® 3 1 4 2
G-I B G-I % FqT GHferd Fifse
3R A ffT MU wE F wEAT ¥ T
%mqﬁ@:
= -1 et - 10
[ o W @R 1. 1961
IS
II. 3757 31are 2. 1985
IMI. &g dewered 3. 1991
THOH TaTE
V. o 2mEE 4. 2002
B
I O Mm IV
A 1 2 3 4
@) 3 1 4 2
© 4 3 2 1
2 1 3 4
Paper-1I
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